architekturwerkag.ch

eingang ko|es|wo
bf:13.03 m? bf:36.09 m?
rh: 248 m rh: 251 m
+6.20 +6.20
| hs.201 22 | hs.202 [22
b parkett b: parkett
w: abrieb gstr. w abrieb gstr.
d: i d: i
loggia
bf:13.45 m?
rh: 237 m
+6.20
h5.203 =

b fsz-platten
W: miner. verputz gstr.
d: brettschichtholz

b: fsz-platten
w: abrieb | platten
d: hergh. weissputz gestr.

reduit zimmer 1
bf:5.75 m? bf:15.03 m?
rh:2.48 m rh: 2.48 m
+6.20 +6.20
h5.205 ;77 h5.206 ;77
b: fsz-platten b: parkett
w: abrieb gstr, w: abrieb gstr.
d: i d: brett
zimmer 2 eingang
bf:15.03 m? bf:8.23 m?
rh: 2.48 m rh:2.48 m
+6.20
h5.207 |22 | hs.208
arkett
w: abrieb gstr. w: abrieb gstr.
d: br i d: i
ko|es|wo loggia
bf:32.66 m? bf:13.63 m?
rh: 248 m rh: 237m
+6.20 +
| hs.200 22 h5.210
b: parkett b: fsz-platten
w: abrieb gstr. W: miner. verputz gstr.
d: brettschichtholz d: ddmmung
reduit du|we
bf:3.97 m? bf:6.44 m?
rh:2.48 m rh:2.28 m
+6.20|
hs.211 |22 | hs.212
b: fsz-platten b fsz-platten

w abrieb gstr.
d: brettschichtholz

w: abrieb | platten
d: hergh. weissputz gestr.

zimmer eingang
bf:19.60 m? bf:8.23 m?
rh: 248 m rh:2.48 m
+6.20| +6.20
| hs.213 (24 | hs.214 (220
b: parkett arkett
w: abrieb gstr, w: abrieb gstr.
d: i d: i
ko|es|wo loggia
bf:32.66 m? bf:13.63 m?
rh: 2.48 m rh: 237 m
+6.20]
| hs.215 [0 h5.216
b: parkett b: fsz-platten
w: abrieb gstr. W: miner. verputz gstr.
d: i d:
reduit du|we
bf:4.06 m? bf:6.44 m?
rh:2.48 m rh:2.28 m
-+S 0|
h5.217 5 h5.218

+6.07|

bifsz-platten
w: abrieb gstr,
d: brettschichtholz

b: fsz-platten
w: abrieb | platten
d: hergh. weissputz gestr.

zimmer eingang
bf:19.60 m? bf:13.03 m?
rh: 248 m
+6.20|
| hs.219 [220
b: parkett
w: abrieb gstr. w: abrieb gstr.
d: d: i
ko|es|wo loggia
bf:36.09 m? bf:13.45 m?
rh: 251m rh: 237m
+6.20 +6.20|
| hs.2e1 220 hs.222 |52
b: parkett b: fsz-platten
w: abrieb gstr. W; miner. verputz gstr.
d: i d: i
du|we reduit
bf:6.44 m? bf:5.75 m?*
rh:2.28 m rh:2.48 m
+6.20 +6.20|
h5.223 [£20 | hs.224 [
b: fsz-platten b: fsz-platten

wi abrieb | platten

d: hergh. weissputz gestr.

w; abrieb gstr.
d: gestrichen

zimmer 1 zimmer 2
bf:15.03 m? bf:15.08 m?
rh: 248 m rh: 2.48 m
+6.20 +6.20

h5.225 = h5.226
b parkett b: parkett
w: abrieb gstr. brieb gstr.
d: br d: brettschi
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